
 Øi.60,3 

 270 

 Øi.54 

 Øe.60,3 35 

 Øe.54 25 

 Øi.42,4 30 

 Øe.42,4 30 

 Øe.38 20 

3x Bushings
P/N 207024

3x Flanges
P/N 207022

S.S. Pipe n° 1
P/N 3015608201
S.S. Pipe n° 2
P/N 3015608202
S.S. Pipe n° 3
P/N 3015608203

S.S. Pipe
P/N 3015608205

S.S. Pipe
P/N 3015608207

S.S. Muffler
P/N 3015608485U

8x Shorts Spring
P/N 303949001

8x Flange Nuts M8
P/N 200298

Screw
M8x20
P/N 200722

Screw
M8x30
P/N 200363

Alu Spacer
Øe.27 Øi.8,5
P/N 204321

Alu Spacer
Øe.22 Øi.8,5
P/N 205090

Sonda Lambda
INCLUDED
P/N 5684

Sonda Lambda
OPTIONAL
P/N 5684

S.S. Bracket
P/N 3015608501

Screw
M6x14
P/N 200257

3x Washers
P/N 200291

2x Flange Nuts M6
P/N 200322

bike's radiator

Carbon Bracket
P/N 0815602502

S.S. Plate
P/N 207181

2x Screws
M6x12
P/N 201265

4x Washers
Øe.15 Øi.5
P/N 406580

4x Screws
M5x12
P/N 201031

Carbon Heat Shield
P/N 303896001

4x Mounting Plates M5
P/N 204555

8x Gaskets
P/N 200371

Carbon Heat Shield
P/N 3015607001

ART. 15608BU

TRIUMPH STREET TRIPLE 765 R/RS

FULL SYSTEM   LV-14R   BLACK EDITION

S.S. Bracket
P/N 3015608502

bike's frame

bike's frame

dB-Killer n°80
P/N 3015602801


	15608BU
	Vista del disegno7
	Vista del disegno8


